
SUMMER  ASSIGNMENT  FOR  CLASS – 12 

  Find dy/dx 
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4 . If  (cosx)y = (siny)x  , find dy/dx  
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6 . Differentiate  :   xtan     w.r.t.x . 
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13. If  x = a (cosө +ө sinө) ,   y = a ( sinө – ө cosө)   find dy/dx 

14 . If  ex ( x + 1) = 1 , show that   
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15. Verify Rolle’s theorem for the function f(x) = x2 + 2x - 8 ,  xє[ -4 , 2 ] 

16. If  011  xyyx  ,  prove that     
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17. Find the value of  K so that the function is continuous at  x = 5   , 
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18. Find the value of a and  b if the function    
















125

111

13

)(

xifbax

xif

xifbax

xf     is continuous at  x=1 

 

20. For what value of  λ is the function defined by   
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21. Find the value of  a and b such that the function is continuous  
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22. Find all the points of discontinuity of   f defined by f(x) = IxI – I x + 1 I . 

23. Find the value of K for a continuous function  , 
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                                                            MATRICES AND DETERMINANTS 

24. If   

























211

423

532

A  , find  A 
-1 

25. If    






 














40

14

47

3

x

yyx
,    find the value of  x and y . 

26. Using  properties of determinant show that    3)(2
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27. Using matrices, solve the system of equations,  2x+8y+5z=5  , x+y+z=-2 , x+2y-z=2 . 
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30. Using elementary transformations find inverse of a matrices, 
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 32. Prove that  :  

zyx

rqp

cba

yxxzzy

qpprrq

baaccb

2







 

 

                   Last date of submission    25th  June  2016 

               Do it on the A-4 size ruled sheet 

               Attach one cover page showing Name, class ,subject and Title as assignment. 

 

 

 


